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5 X 4 B | Finbh oD RRE ADKRES R TiwALDKE | HE NADKRES X 4 2% | LS50S NADKRES X 4 Ltimhontts | & NADKRES
(m) (m) (kN/ ) BEBf(m) (m) (kN/ i) (m) (m) (kN/ i) (m) (m) (kN/ )
; 100kN/m#%#82%| 1.00 | 000 ~ 234 136.53 |3m&xBZB| 000 ~ 0.71| 529 17.63 | 100kN/m%E#BZ 3% | 1.00 | 11.95 ~ 40.04 136.53 |3mZEHBAS| €20.00 ~ 40.04| 3.29 17.63
ZznLst 1.00 | 2534 ~ 1013 100.00 | =0 | 071 ~ 1013] 5.00 16.05 Zhs 1.00 | 5.00 ~ 11.93 100.00 | #nSt | 6,00 ~ 40.00 | 3.00 16.056
2 100kN/m##825| 1.00 | 000 ~ 282 144.62 |3m%EFBZB| 0.00 ~ 0.91| 5.40 1818 | 100kN/m#E#BZ 5| 1.00 | 12.16 ~ 4000 144.62 |3mERZ 5| 2000 ~ 40.00 | 8.40 18.18
ZznLst 1.00| 282 ~ 1061 100.00 | #nhust | 0.91 ~ 1061 3.00 16.05 Zzh st 1.00 | 6,00 ~ 1116 100.00| FnS | 65,00 ~ 40.00| 3.00 16.05
3 100kN/m##8%%5| 1.00| 000 ~ 200 130.95 |3mEBZB| — ~ — — — | 100kN/mZE#BZ25 | 1.00 | 1265 ~ 3965 | 130.95 |3mEBZS -~ — — —
zh st 1.001200 ~ 979 100.00 | FThLs | 000 ~ 979|279 14.93 zh st 1.00 | 5.00 ~ 1265 100.00 | =R | 500 ~ 3965|2.79 14.93
4 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00 | 0.00 ~ 6.75 85.29 | #hdst | 0oo ~ 000|157 8.39 Zzh st 1.00 | 5.00 ~ 9.28 85.29 | #hst | 5.00 ~ 928 1.57 8.39
5 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 | 0.00 ~ 6.31 79.27 | #nS | 000 ~ 631|189 10.09 zh st 1.00 | 5.00 ~ 7.68 79.27 | #nS | 6,00 ~ 7.68 | 1.89 10.09
100kN/mM#%#BZ % ~ ImEHBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS ~
Zzhnst ~ zh st ~ zh st ~ ZzhnLs ~
100kN/mM#%# 8% % ~ ImEHBZD ~ 100kN/mM#E#BZ % ~ 3mEHBAS ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/mM##BZ 5 ~ ImEHEAZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLs ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZThLLS ~ LS ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnList ~ Zh LS ~
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